**PROJECT TITLE:** 2023 Weeding & Landscaping Services

**BID OPENING:** Friday, March 10, 2023

**PROJECT MANAGER:** Dan Voss

2 2:1: /2 1	Delia & B	ro's Landsca	ping Inc.	Li	angton Grou	р	Fled			
Base Bid Items (Park Name - Base Bid Items)	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	The Bravos Landscaping
Brown Park - Weeding &										
Deadheading: monthly	\$925.00	6	\$5,550.00	\$352.00	6	\$2,112.00	\$1,421.00	6	\$8,562.00	Incomplete
Brown Park - Edging: May, July,										
Sept.	\$2,275.00	3	\$6,825.00	\$1,056.00	3	\$3,168.00	INCL	3	INCL	Incomplete
Brown Park- Cultivation: April,										
June, August	\$2,275.00	3	\$6,825.00	\$1,056.00	3	\$3,168.00	INCL	3	INCL	Incomplete
Brown Park - Base Bid Total		\$19,200.00			\$8,448.00			\$8,526.00		Incomplete
C. Snyder Park - Weeding & Deadheading: monthly	\$975.00	6	\$5,850.00	\$134.00	6	\$804.00	\$300.00	6	\$1,800.00	Incomplete
C. Snyder Park - Edging: May,										
July, Sept.	\$2,405.00	3	\$7,215.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
C. Snyder Park - Cultivation:										
April, June, August	\$3,705.00	3	\$11,115.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
C. Snyder Park - Base Bid Total		\$24,180.00		\$2,916.00			\$1,800.00			Incomplete
Devonshire Park - Weeding & Deadheading: monthly	\$775.00	6	\$4,650.00	\$134.00	6	\$804.00	\$168.00	6	\$1,008.00	Incomplete
Devonshire Park - Edging: May, July, Sept.	\$1,625.00	3	\$4,875.00	\$176.00	3	\$528.00	INCL	3	INCL	Incomplete
Devonshire Park - Cultivation:										
April, June, Aug.	\$3,575.00	3	\$10,725.00	\$176.00	3	\$528.00	INCL	3	INCL	Incomplete
Devonshire - Base Bid Total	\$20,250.00			\$1,860.00				Incomplete		
Hidden Creek Aqua Park - Weeding & Deadheading:										
monthly	\$1,050.00	6	\$6,300.00	\$704.00	6	\$4,224.00	\$1,177.00	6	\$7,062.00	Incomplete
Hidden Creek Aqua Park - Edging: May, July, Sept.		2		·						Incomplete
euging: iviay, July, Sept.	\$2,535.00	3	\$7,605.00	\$1,056.00	3	\$3,168.00	INCL	3	INCL	'



Dana Bid Hama (Dank	Delia & Bros Landscaping Inc.			L	angton Grou	р	Flee			
Base Bid Items (Park Name - Base Bid Items)	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	The Bravos Landscaping
Hidden Creek Aqua Park -										
Cultivation: April, June, Aug.	\$3,835.00	3	\$11,505.00	\$1,056.00	3	\$3,168.00	INCL	3	INCL	Incomplete
Hidden Creek Aqua Park -										
Mulching: by Memorial Day	\$2,850.00	1	\$2,850.00	\$5,250.00	1	\$5,250.00	\$3,361.00	1	\$3,361.00	Incomplete
Hidden Creek Aqua Park - Base										
Bid Total		\$28,260.00			\$15,810.00			\$10,423.00		Incomplete
Jens Jensen Park - Weeding &										
Deadheading: monthly	\$900.00	6	\$5,400.00	\$134.00	6	\$804.00	\$341.00	6	\$2,046.00	Incomplete
Jens Jensen Park - Edging: May,										
July, Sept.	\$2,275.00	3	\$6,825.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
Jens Jensen Park - Cultivation:										
April, June, Aug.	\$2,795.00	3	\$8,385.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
Jens Jensen Park - Mulching: by										
Memorial Day	\$1,480.00	1	\$1,480.00	\$1,125.00	1	\$1,125.00	\$973.00	1	\$973.00	Incomplete
Jens Jensen - Base Bid Total		\$22,090.00		\$4,041.00			\$3,019.00			Incomplete
Memorial Park - Weeding &										
Deadheading: monthly	\$875.00	6	\$5,250.00	\$134.00	6	\$804.00	\$209.00	6	\$1,254.00	Incomplete
Memorial Park - Edging: May,										
July, Sept.	\$2,080.00	3	\$6,420.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
Memorial Park - Cultivation:										
April, June, Aug.	\$4,875.00	3	\$14,625.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
Memorial - Base Bid Total		\$26,115.00		\$2,915.00			\$1,254.00			Incomplete
Moraine Park - Weeding &										
Deadheading: monthly	\$1,150.00	6	\$6,900.00	\$352.00	6	\$2,112.00	\$681.00	6	\$4,086.00	Incomplete
Moraine Park - Edging: May,										
July, Sept.	\$2,470.00	3	\$7,410.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
Moraine Park - Cultivation:	4	_		4	_			_		
April, June, Aug.	\$3,510.00	3	\$10,530.00	\$352.00	3		INCL	\$4,086.00	INCL	Incomplete
Moraine Park - Base Bid Total	\$24,840.00			\$4,224.00				Incomplete		
Rec. Center of Highland Park -										
Weeding & Deadheading:										Incomplete
monthly	\$1,955.00	6	\$11,730.00	\$134.00	6	\$804.00	\$643.00	6	\$3,858.00	



Base Bid Items (Park Name - Base Bid Items)	Delia & Bros Landscaping Inc.			L	angton Grou	р	Fled			
	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	The Bravos Landscaping
Rec. Center of Highland Park -										
Edging: May, July, Sept.	\$6,370.00	3	\$19,110.00	\$176.00	3	\$528.00	INCL	3	INCL	Incomplete
Rec. Center of Highland Park -										
Cultivation: April, June, Aug.	\$6,045.00	3	\$18,135.00	\$176.00	3	\$528.00	INCL	3	INCL	Incomplete
Rec. Center of Highland Park -										
Mulching: by Memorial Day	\$7,125.00	1	\$7,125.00	\$1,500.00	1	\$1,500.00	\$1,834.00	1	\$1,834.00	Incomplete
Rec. Center of Highland Park - Base Bid Total		\$56,100.00			\$3,360.00			\$5,692.00		Incomplete
R.D. Deutsch - Weeding &		<u> </u>								·
Deadheading: monthly	\$275.00	6	\$1,650.00	\$134.00	6	\$804.00	\$105.00	6	\$630.00	Incomplete
R.D. Deutsch - Edging: May,			. ,	·		'				,
July, Sept.	\$455.00	3	\$1,365.00	\$176.00	3	\$520.00	INCL	3	INCL	Incomplete
R.D. Deutsch - Cultivation: April,										
June, Aug.	\$780.00	3	\$2,340.00	\$176.00	3	\$528.00	INCL	3	INCL	Incomplete
R.D. Deutsch - Total Base Bid		\$5,355.00			\$1,860.00			\$630.00		Incomplete
West Ridge - Weeding &										
Deadheading: monthly	\$2,100.00	6	\$12,600.00	\$704.00	6	\$4,224.00	\$581.00	6	\$3,486.00	Incomplete
West Ridge - Edging: May, July,										
Sept.	\$2,080.00	3	\$6,240.00	\$1,056.00	3	\$3,168.00	INCL	3	INCL	Incomplete
West Ridge - Cultivation: April,										
June, Aug.	\$2,405.00	3	\$7,215.00	\$1,056.00	3	\$3,168.00	INCL	3	INCL	Incomplete
West Ridge - Total Base Bid		\$26,055.00			\$10,560.00			\$3,486.00		Incomplete
Total Base Proposal		\$252,455.00		\$55,994.00						
Alternate Items										Incomplete
Alt. 1: Deer Creek Racquet Club -										
Weeding & Deadheading:										
monthly	\$9,150.00	6	\$54,900.00	\$134.00	6	\$804.00	\$100.00	6	\$600.00	Incomplete
Alt. 1: Deer Creek Racquet Club -	_									
Edging: May, July, Sept.	\$4,680.00	3	\$14,040.00	\$176.00	3	\$528.00	INCL	3	INCL	Incomplete
Alt. 1: Deer Creek Racquet Club -										Incomplete
Cultivation: April, June, Aug.	\$3,705.00	3	\$11,115.00	\$176.00	3	\$528.00	INCL	3	INCL	incomplete



Alternate Items	Delia & Bros Landscaping Inc.			L	angton Grou	р	Fled			
(Alternate #, Park Name, Item)	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	The Bravos Landscaping
Alt. 1: Deer Creek Racquet Club										
at Larry Fink Park - Total		\$80,055.00			\$1,860.00			\$600.00		Incomplete
Alt. 2: Central Park - Weeding &										
Deadheading	\$975.00	6	\$5,850.00	\$352.00	6	\$2,112.00	\$188.00	6	\$1,128.00	Incomplete
Alt. 2: Central Park - Edging:										
May, July, Sept.	\$1,820.00	3	\$5,460.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
Alt. 2: Central Park - Cultivation:										
April, June, Aug.	\$1,560.00	3	\$4,680.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
Alt. 2: Central Park - Total		\$15,990.00			\$4,224.00			\$1,128.00		Incomplete
Alt. 3: N. Suburban Special Recreation Assoc Weeding &										·
Deadheading: monthly	\$325.00	6	\$1,950.00	\$352.00	6	\$2,112.00	\$108.00	6	\$648.00	Incomplete
Alt. 3: N. Suburban Special Recreation Assoc Edging:										
May, July, Sept.	\$520.00	3	\$1,560.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
Alt. 3: N. Suburban Special										
Recreation Assoc Cultivation:										
April, June, Aug.	\$1,170.00	3	\$3,510.00	\$352.00	3	\$1,056.00	INCL	3	INCL	Incomplete
Alt. 3: N. Suburban Special										
Recreation Assoc Mulching:										
by Memorial Day	\$325.00	1	\$325.00	\$750.00	1	\$750.00	\$309.00	1	\$309.00	Incomplete
Alt. 3: N. Suburban Special										
Recreation Assoc Total		\$7,345.00	1	\$4,974.00			\$957.00			Incomplete
Alt. 4: Rosewood Park -										
Weeding & Deadheading	\$1,275.00	6	\$7,650.00	\$352.00	6	\$2,112.00	\$311.00	6	\$1,866.00	Incomplete
Alt. 4: Rosewood Park - Edging:	¢4 420 00		64 200 60	ć=20.00		Ć4 F04 60	INICI	2	INICI	
May, July, Sept.	\$1,430.00	3	\$4,290.00	\$528.00	3	\$1,584.00	INCL	3	INCL	Incomplete
Alt. 4: Rosewood Park - Cultivation: April, June, Aug.	\$1,820.00	3	\$5,460.00	\$528.00	3	\$1,584.00	INCL	3	INCL	Incomplete
Alt. 4: Rosewood Park - Total	\$17,400.00			\$5,280.00				Incomplete		
Alt. 5: Schwartz Garden @ Sunset Woods Park - Weeding & Deadheading	\$9,400.00	6	\$56,400.00	\$352.00	6	\$2,112.00	\$160.00	\$1,866.00	\$960.00	Incomplete



Alternate Items	Delia & Bros Landscaping Inc.			Li	angton Grou	р	Fled	The Drawer		
(Alternate #, Park Name, Item)	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	Unit Cost (Single Operation)	# of Operations per Season	Annual Seasonal Cost	The Bravos Landscaping
Alt. 5: Schwartz Garden -										
Edging: June & Sept.	\$4,350.00	3	\$13,050.00	\$176.00	3	528	INCL	3	INCL	Incomplete
Alt. 5: Schwartz Garden - Cultivation: April, June,										
Aug./Sept.	\$11,250.00	3	\$33,750.00	\$176.00	3	528	INCL	3	INCL	Incomplete
Alt. 5: Schwartz Garden - Total	\$103,200.00			\$3,168.00				Incomplete		

